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They are believed — 2RI PR 9T

OVERVIEW

The mwn states if 27V testify that they signed on a 7ww, however they were
unqualified to be witnesses, if there is no other way to authenticate the 0w,
the o7y are believed." The 7vw is not valid.” Generally, when a "W is
presented, the only claim that can be made against it is that it is a forgery. If
that claim 1s made, the bearer of the W is required to authenticate the
signatures. However any other claim, including that the 2’7y were
unqualified, is rejected (especially if the 0w was authenticated). It is
assumable that the maker of the 7uw used only qualified witnesses.

Mmoo asks:
- *nn o1y DIP122 139 XN OINI NNIDY 9NN ON)
And if you will say; why are they believed to disqualify themselves; the 13»
should not be effective since it is a 2 which contradicts witnesses. Their
claim that they were 2°2105 contradicts 2>7y. M90n will explain why it is a 27y QPR 1MA.
Seemingly no one is claiming that the signatories are qualified. M990 explains that there
is contradictory testimony to the disqualifiers —
— 1Y YDV NIY DIDNN 19N NIY 111D JINY
For we testify; 7"°2 are the witnesses who claim that the 27V in the W
were not forced to sign and are not unqualified witnesses. Whenever there
are (authenticated) 0°7¥ on a "W it is assumed that they are 2°7w> o°7v. This assumption
has the strength of 2>7v. These 0°7¥ signed on this 70w, as they themselves testified. Their

signatures are authenticated. It is therefore assumable, with the strength of >770 71X, that
they are 2> w5 0°7v. Therefore their claim that they were 0°2105 contradicts this 7.

moon will prove that once 0°7¥ are authenticated on a 0w, it is considered as if there are
witnesses that they are 2> w> o>7v.

! There is a dispute whether they are believed to the extent that the Tvw is destroyed, or that the 0w
remains unauthenticated. See footnotes # 5&7. See 11 nIX 7"210.

% The xm (later on this 71Y) states that the reason they are believed to claim 12111777 @°1vp, is because this
is a case of °'naw o7 X7 “OXY 797. The validity of this 7vw is based solely on their testimony that they
signed it; however they maintain simultaneously that they were ineligible to be witnesses. NM201n refers to
this as a 13; they did not have to testify at all (or they could have testified that it is not their signatures; see
[however] following "X 71"7 '01n [footnote # 7]) and the 7w would not be valid

? The term 07y 0IP»2 1 means that the claim (which has a 1) contradicts 2°7v. A 07V 0I3p»2 137 is not an
effective 1an. The 131 is not sufficient to dislodge the 0°7¥ who contradict the claim.
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For later the X723 states that the witnesses who signed on the 7w and the
witnesses who disqualify them are considered as if there are two witnesses

against two witnesses. The question is that since in our miwn, there is an assumable
testimony (through the *770 jIX) that the 2 nnn 27y are 2w 2°7Y, therefore even
though the o>mnni 07 claim that we were 0°9109, nevertheless they cannot be believed.’
The fact that the 2" nm7 079 have a W2 is meaningless, since it is a 079 Dpna wA.°

MDOIN answers:

- 7955 OYp 2PUN XY XN 0P D9 199807 11T 9299 U

And one can say; that since the 2>»o1 require authentication by a ww;

otherwise it is not a w2 W, therefore here in the case of the 71wn, it is not
considered 2%p at all —

= NT NI 1T 2N DIININY IN

that which the o°»nn7 o7y state that this is our handwriting. The v is not

* 2,v q7. The X3 there cites a xn™12 that if the two signatories died, and their signatures were

authenticated, then if two other witnesses come to disqualify the signatories, the disqualifiers are not
believed. This implies that the 70w is valid. The X713 asks how can the "W be valid, it is > *n; the
disqualifiers versus those that oppose them. (The X 13 there resolves the difficulty; that the 2vw is merely
suspended.) We derive from that X773 that it is assumed that the authenticated signatories are considered as
two 07y, who claim that they were 0°7w> 0°7¥ and contradict the disqualifiers.

> There is a dispute among the commentaries whether Mo1n means to ask that they should not be believed
at all, and the "vw is valid; or that they should not be believed and the status of the ww will remain
unresolved, until we can find other 1P >7¥ (as in a case of *M *7n). See footnotes # 1&7.

® The xw™ of the above cited Xn*13, states that if the q0w was not o"pn, the disqualifiers are believed (even
if they testify that the signatures are authentic). n1901n seemingly has no difficulty with that X9, only with
our 71wn. See X"¥7 who explains that in our 71wn since it is the wwi v who are testifying that 11°°7 021vp,
this latter testimony of M?05 is not considered a M7y N7 for it is a ¥ N, since they already signed the
Tuw (and said 77 X7 12°7° 2n3), which indicates they are 07> 0>7v. They can only be believed on account of
the 1. Therefore No0IN asks that it is a 2>7v 01p»2 M. In the Xn»12 however the 0°%0197 0°7y are different
from the o mnnn 0>7y, therefore their testimony of M2 is a proper M7v n7a7. In addition they also have a
10, therefore it can be argued ([at least] in the X"7) that M7y together with a 2 may be effective even
07y 0Pn1a. See also 2Xp NIR 2177 MIdWA.

7 mooin surely realized that the Xn* 2 (where it is called >0 *n) is discussing a case of DpnA R 07> N3
anX, and our 71w (where they are 0°1nK1) is discussing a case of X 2IpHM XX 27 202 X (See ‘Thinking it
over’ # 1). Nevertheless n1901n maintained in the X", since they testified that 77 X371 °"n3 (and did not
retract it), it should be considered sufficient ovp to set the >770 71X in place. N19OIN concludes that since they
immediately negated the ovp by saying 11°7 0°10p, there is no a1p at all, and therefore no 770 JIX.
Alternately, according to the view (see footnotes # 1&5) that N1901n question was why they are believed to
destroy the 7vw; since it is a 0>7¥ 01Pn2 M, the vw should remain suspended as in >2M 0. Therefore
Moo never intended that 77 X177 °"n> is a full o1p. Rather 1900 in the X" maintained that the >"n> and the
11> 09109 should cancel out each other. MdoIN responds that *"n> has no effect at all, and we must accept
the 11717 o"909.
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o”pn by this statement of 77 X177 117> 2n3. The reason for this is —
— 13957 DYUNN IN DOIVP SN2 79 TIN 299K 17D 1N1NT 193
Since these witnesses themselves; the very ones who stated 7 X7 1°7° 202

say within the 9127 972 limit, ‘we were minors or we were forced when we
signed’. This statement automatically nullifies any 21°p that may have been forthcoming
through their opening statement of 77 X7 11°7> 2n2. There is an >770 11X that the 0w was
signed by qualified witnesses, only if we know that there is a qualified 7vw. There can be
a qualified 70w only if it is a @"p»n 0W. In our case there is no o pP»n VW, hence there is
no *7710 1IR. Therefore it is not a D*7¥ DPR2 wn.?

— NYD D971 9297 13 ©1Y 23U 1Y 19%aUN 1Py Yax

However later in the X723 which was previously cited we do consider the

signatories as two 2°7¥ who contradict the testimony of the 0°9019:1 0>7¥. The
reason for this is since it is already a 2%p» W —

— 9NN DIPNN NN 09 ANV

For their handwriting is already established elsewhere. Their signatures were
already verified. This made it a w2 wWw. By a 2w 70w there is an >770 X, that the 0°7v
are qualified. Therefore the qvw: >7v and the 0°%0197 0*7v are considered >0 7.

SUMMARY

When o7y testify that ™7 22909 %28 17 X7 °"na, they are not merely
contesting the validity of the 2°7¥ (which would make it a 7% 21712 122), but
rather they are testifying that there is no 21p, and therefore no “vw. The 71X
7770 that the signed 27y are 2°7Ww2 is only by a valid authenticated “0w.

THINKING IT OVER

1. mpoIn proves in the X" that there is an 770 71X in the Mwn, from the X713
later which states it is a > *n.'" Seemingly, when the X»3 later asks that it
is M °7n, the thrust of the question is that the 0°%0197 2>7v are *7n, not that
the "wwn »7v are "7N. (The W 7Y there are N because X DPnn XX °'"ND.)

¥ The term M12°7 *72 )0 means that it was said within the time that it takes to say the three words of 219w
“37 7%y, Anything said 112°7 *72 0 is considered as being said simultaneously with whatever preceded it.
In our case it would be as if they initially said we were disqualified 0°7v. There would certainly be no o1p
in such a situation.

? The 7oxw 75 accomplishes that they have the power to nullify the ovp. There is no >770 13X on the arp.
When they said 117 0909, this renders the *"n3 meaningless. They are saying we wrote our names on a
piece of paper, not on a Tvw. Without the 0"Xwd, however, we would not believe them that 1177 0°109, since
they already said X7 °"n> (and are not retracting it).

' See footnote # 7.
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How does this prove that by us there is an *7;70 11x?"'

2. What is the essential difference between the X°wp and the y1°n of
mooIn?'?

' See x"wAmn.
12 See 72°K1 T¥p MR DY MIBDWA.
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